ORR Notes - Russia

KQ: How far was the Tsarist government responsible for the 1905 revolution?
Causes of the Revolution
(Taken from Evans and Jenkins p.133)

Long-term


Short-term


‘Trigger factor’

Grievances of the industrial
Economic slump leading to
Events of Bloody Sunday

workers of long hours, poor
unemployment, increased 
Nicholas made a number of 

living and working conditions
poverty and hardship.

mistakes: he was absent from

low pay



Series of bad harvests

the Winter Palace on the 9/22

Peasant discontent arising
led many peasants to default
January, he failed to realize 

from burden of redemption
on their mortgage payments.
the seriousness of the 

payments, low productivity
Food shortages caused by
situation and he made few 

and profitability of land,
harvest failures and the 
concessions in the vital first

taxation burden, insufficient
war against Japan.

few days

land and high taxes.

Regime’s failure to ensure a
Middle class resentment at
fair distribution of food.

exclusion from share in 
Development of political 

government, feeling of ill-will
parties and rival ideologies

against an incompetent

with leaders who were prepared

government.


to push for political change.

Student uprisings and 

Activities of Plehve as Minister of

overreaction of police.

the Interior who made use of the 

Nationalities’ resentment
secret Police (the Okhrana).

of the imposition of Russian
Frustration of zemstva liberals at

language, culture and religion
activities of local civil servants who 

and lack of regard for their 
resented their suggestions for change

demands for self-rule.

led the zemstva to become more 

Impact of regime’s repressive
political. Ban on zemstva holding National

policies.


Congresses led to ‘banquets’ or social gatherings





that became an opportunity for demands for





political reform – held in November 1904.

Pick five factors that you think are the most important. Turn to your partner and justify yourself. He must then explain and justify your arguments to you. Correct his interpretation, then it is his turn! 

